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A dot=Z A A
HE: SARHUASSTSMY
o9l 22 ZZAY =X CREED
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
0.0iS4&f+k &5 =2 M2 5,316
o H==(d23) 38,000& * 23 * 5000 & 3,800
o XNat== (24 138]) 75,800 *13] *2004 & 1,516
0.0t ==EHsE2 A2 137,194
0B (ZJ1EA)
56,5204 = 33| * 2900H & 49,173
oFA(HESR)
303,520& = 13| * 29000 & 88,021
0.2%=H =ZIAM==2 1,661
o &J|& Al 50,000& * 34 * 53l 750
od 13 303,520 * 3MA * 13 911
Ot (Helg2FA) 7,000& «6 21704 2,940
202 O4dl 14,400 10,800 3,600
01 = LH YI 14,400 10,800 3,600
OzelgR=a8 0l 200,000& 621 x12& 14,400
203 R =&l 3,000 3,000 0
03 A Z=XH S =AY 3,000 3,000 0
Olts&=EHRFA 1,500,000 1,500
OXNga=E 2 3t=E FRF& 1,500,000 1,500
206 M= Hl 69,870 69,710 160
01 =8l 69,870 69,710 160
SZZAME H=E 7Y 3,400
0. 41¢ 1,500& * 800H 1,200
0.21¢ 1,000& = 800K 800
0. 1¢ 700& * 2,0000H 1,400
Oltgaa+E A58 ZHPY
55,0003 * 290014 * 43| 63,800
O R 2,520
0.32Z3II(2A) 3,600&  700kg 2,520
OXFHA SHAA(0T)2Y 10,0008 * 154 150
401 Al HI & 28I 15,000 20,000 A5,000
01 A&l 15,000 20,000 A5,000
O%=2 BSAE FHI(BTEALE 242)
5,000,000 *30H 2 15,000
SasE QUAAE 22 153,000 100,000 53,000
< 45,900
[ia 107,100
307 gl2tol & 153,000 100,000 53,000
< 45,900
s 107,100
05 RIZERI & 3 153,000 100,000 53,000




AN dot=SAFE A
HE: SARHUASSTSMY
o9l ges TIAMY =X (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OARE=E A& Q2 & 22
153,000, 000& 153,000
< 45,900
e 107,100
a=E A 6,420,317 5,681, 150 739,167
& 3,000,000
fia 3,420,317
oS4zl 1,760,960 1,630,000 130,960
& 460,000
s 1,300,960
AR ST AIEHEAS 657,000 600,000 57,000
& 460,000
s 197,000
401 A& HI K 201 I 657,000 600,000 57,000
& 460,000
s 197,000
01 A& HI 652,860 596,220 56,640
O 22T AIEMSAS(11H)
652,860,000 652,860
& 455,860
s 197,000
03 AIE 2 THHI 4,140 3,780 360
O 2Rl AIEHE AL R HYI
657,000,000% *0.63/100 4,140
2 4,140
OIS &= ALY 1,103,960 1,030,000 73,960
401 Al HI R 201 I 1,103,960 1,030,000 73,960
01 A& HI 1,100,000 1,023,826 76,174
O Ots&d=% HESAZ 800,000, 000& 800,000
O gt RAES(LSES)
150,000, 000& 150,000
O ltsd=x =X tHAALXR]
150,000, 000& 150,000
03 A& =2 THHI 3,960 6,174 A2,214
O DiS4d==E A 20l
1,100,000, 000% *0.36/100 3,960
sot+E ZeIAY 16,870 16,150 720
MR EFA 6,870 6,150 720
201 Let24E] 1,470 1,470 0
01 At 2t 2l 1,470 1,470 0
OSH (=T AIELRFZX) 7,000& *32!x704! 1,470
202 (44l 5,400 4,680 720
01 SLHOIYI 5,400 4,680 720
=E AL 0 150,000& x321 x12& 5,400
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AN dot=SAFE A
HE: AL AY
Sl MBIAE RrElAY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S EBSAAFUTAY 10,000 10,000 0
206 M= Hl 10,000 10,000 0
01 M= 4l 10,000 10,000 0
OXSIsHUMNE (RASEHA1T)
10,000,000& 10,000
Nga=C A 4,642,487 4,035,000 607,487
& 2,540,000
s 2,102,487
Nga=E Hl 397,487 350,000 47,487
401 AIEHI L 20HEI 397,487 350,000 47,487
01 A& HI 394,645 347,480 47,165
O dEUelX+ SEa+=E =2 WHSA
150,000, 000& 150,000
O &t 2 i NYadsE =22 WX
S A 70,000,000 70,000
O XNYa==x XE T =Xl Y2 ZF
S A 24,645,000 24,645
O MEAELNII0S XNLa=ZoI A
150,000, 000& 150,000
03 Al 20 HI 2,842 2,520 322
O XegaxE HU ALY Al 201l
394,645,000% *0.72/100 2,842
SHEMS Y 3,316,000 3,685,000 369,000
& 1,890,000
[ia 1,426,000
401 AIEHI L 2 CHYI 3,316,000 3,685,000 A 369,000
& 1,890,000
[ia 1,426,000
01 A& Bl 3,307,046 3,226,265 80,781
O M8 MEXNYNSTEHIDA
3,307,046,000& 3,307,046
& 1,883,207
[ia 1,423,839
03 Al 2 0HHI 8,954 8,735 219
O ME MEXNYMLCHZB AR
3,316,000, 000& *0.27% 8,954
= 6,793
s 2,161
AHZSCHUIDII2HE(HE) L MHSX 7 Xga 929,000 0 929,000
AT QYUTA AN HA B
& 650,000
e 279,000
401 Al HIZ 201 Y] 929,000 0 929,000
& 650,000
= 279,000




2N Aol AIE A
HE: AL AY
Sl XSASTAY CERED
4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 Al& H| 923,147 0 923, 147
O My X7 AT OAZA = HH|D]|
EHE(HA) L MALAHESA 923,147,000 923,147
2 644,147
o 279,000
03 AlE 20| 5,853 0 5,853
O A& 20yl 929,000, 000& *0.63% 5,853
2 5,853
ote=& 22| 533,480 926,300 A 392,820
otE=E ALY 533,480 926,300 A 392,820
ol 2d 533,480 926,300 A 392,820
201 et 4,060 3,560 500
01 AP 2t 2] H| 1,960 1,960 0
OS2 (ot HdL2FA) 7,000 #4021 x704! 1,960
02 E2=2=24%H| 2,100 1,600 500
OZ2222 ¢ HMA 2,100
0 st&=E=& 3| 2,100,000& *13] 2,100
202 044l 7,200 6,240 960
1 =2 Wl 7,200 6,240 960
Ot 2480 | 150,000& #4021 % 12& 7,200
308 XXIGHMSOIA 1,500 1,500 0
05 AXSHHZ2ZESZ2 1,500 1,500 0
OXsS FEOIS otx=% 22|
1,500,000 13| 1,500
401 AIEHIZL £ 0HY| 520,720 915,000 A 394,280
01 Al&H| 517,516 909, 060 A 391,544
OQdtETANE =4 L RIAEEH(11HSH)
148,920,000 = 14! 148,920
OALAZSIEZANE 282X € 2224
100,000,000 = 14! 100,000
ONMBEZZ25IHel & HEZ2A
193,596,000 * 14! 193,596
Odtx=HelAld D& 15,000, 000 » 14! 15,000
OZ23ot=HelAlE IHelAlE HE ALY
60,000,000 x1A! 60,000
03 AlEE2HH]| 3,204 5,940 AN2,736
Odtx=EAE =4 £ RAEH 204
150,000, 000€ x0.72/100 1,080
OMBBSSot=Hdel& NS AF 20HYI
195,000, 0002 x0.72/100 1,404
OAABAIE=EAE 88K £ 232U
CH 8l 100,000,000 *0.72/100 720
MEES(MBIETAIAA) 2,276,616 2,038,929 237,687




2N Aol AIE A
HM: NWRES(Mot+ZAIEA)
e LHEHHX S (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 211,000
= 5,499
= 2,060,117
WEAHA XK= 2,036,136 1,734,926 301,210
AT AIEE S 200,797 354,926 A 154,129
701 JIEISI HE =2 200,797 354,926 A 154,129
01 JIEIS HE &2 200,797 354,926 A 154,129
ONx=ZAIY M2 200,797,000 200,797
SHEdSH 22 S 1,835,339 1,380,000 455,339
701 J|EIS| HE =2 1,835,339 1,380,000 455,339
01 JIEtSI HE &= 1,835,339 1,380,000 455,339
OYs2ALEAHBLIII S ELEIH A 1,835,339
0 =sHE0IS o= A E I AIY 81,000,000& 81,000
0 ot EHIAL 469,000,000& 469,000
0 230l 29 1,285,339,000& 1,285,339
RS DNES 240,480 304,003 NB63,523
= 211,000
= 5,499
= 23,981
ot HAEHIALY A& 240,480 304,003 NB63,523
= 211,000
= 5,499
= 23,981
311 Xt 20| XFak &t 29,480 42,003 N 12,523
= 5,499
= 23,981
05 JIEFXF L 20| KHAHE 29,480 42,003 N 12,523
Obdtx=2 HEHIALE O AH&HE 29,480,000 29,480
= 5,499
= 23,981
601 XL 2 A= 4 E 211,000 262,000 51,000
= 211,000
05 JIEI=2U XY 2 /S A E 211,000 262,000 A 51,000
OdlE=&HEHIAIY |2 4AE 211,000,000& 211,000
= 211,000




